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Read the text and answer the questions

This is Woody. He's eight years old. He has got short brown hair and
big blue eyes. He is wearing a hat and jeans. His favourite season is

Spring. He can run very fast but he can't fly. Woody is happy. today
is a sunny day.

1. What is Woody wearing? w

2. He has got long hair and brown eyes. YES NO

3. What can Woody do?

4. What's the weather like today?

5. Woody likes Springtime. YES NO

2. Complete with the words in the box. Be careful! There’s two extra words.

| GARDEN  LIKES FLY HUNGRY FRIEND LIKE FLYING |

Look! This is Buzz. He is Woody's .Heisn'tin the

bedroom with the rest of the toys. He is in the

Buzz spaghetti and pizza, but he isn't eating
now because he is not .Heis with
Woody.

The exira words are and




